»

~

TH75E 7A17%

st

(ﬁ%ﬁ%ﬁﬁ) 6H20H

i FELH BE SRS als }
2 FRTE XE 14 2% 3% ﬁf’ o|B|® 8AfTE
o = == DOR@DBE|DDBDEI®ID DI DB|® =
ERAM7 T —FGIEE) | H= N N NHKZEE S Ea>—IL
W s sz/e(2(2| [2[2]2[2]e] [[z]2[22] [o| [ |
k@@$$ﬂl:5§§“é¢§$ KIK|IK|IK| @ |K|K K| k| a |Kk|Kk|Kk|k| = ol |21%
’ 12|84 & [1]/2|3/4 & [1]2]|3 4 =
EREDAE_XED13:30~| INEE PO [JUU PR (U U U [OOSR U | U R U [ AINEIBEE I I—IL
K|f@EBAVE FH15:45 1123 als5|6|7]2|3|25|6|1]2|3]|a|5]6|O [3]E
HLEERERT (3ERM) KB ol | ok [ ke ok ok ke o ke ke ke ok ke k| ke KK LIRS
& CEW|T |2 |3 % 5|6|1|2|3|® 5|6|1 2|3 %5 6|C |47
NATYERAKRE
t[ron—mmxE 5| %
HETAAE
NATYERAKRE
BlYvyh—RAKRE 6 | 7K
ALT
A R AR/ AR AR AR AR A|RAIRA|AR A
A E 112|3als|e|l7|2]3lals|6|l1]2|3|a|5|6|O] |7]|F
ALT ol e | e | | e ol e e | . . s . EIEAMKR=
" A do | | ||k | k| ke |k |k s |k ok ok ok ok s |k |k
X BE |7|2|3|® s|6|1|2|3 ®|5 6|1 2|3 @|5|6|O [8|%
X EBhvk TK15:45 ALT 2l2l2l2lulelel2e2lu]laleele 2|lx]le O o |l KRN KE
1]2|3lalels|1|2|3|a|lelal1]2|3|a]l6]a
x N E e RN R R R EI R BRI RS R Ed f olBlE e
Al 112|345 |6|l1|2|3|4|5|6]1]|2|3|4|5]|6
R (2% 248)
=5 ALT
BHBEE Foh— T T T FRET O
+[smeKmmAS 12|
AR YMRRARSE LAMTBEEITAR
BEk-EE-Joh—- EREFA
B|£8k-KikTTAA= 13| 7k
NFEVFUTHAAE T
ALT FREAFHE
o ARIA/AA|ARAVAR|AA|ARA|RA|AR|AR|AR|A|A|A
A FR |7 2/3]a|5|6|1]23|a|5|6]1]/2|3|a|s5|6|C [1¥F
ALT " NIPA NIPA FREAFA
X & 112|8|4|5|&)|1|2|3|4|&|&|l1|2|3|4|&|& o 15| &
EREEMAE B ALT ool e | e | e | 2 el | e | e el e | e | e
KT =1L FH13:40 f JZL é )SL 7 f JZL é )SL f é é é Ol |8|x
1—1 T#14:55 @ il il
* e R E R E N E R e B R E E R R o I S i
1|2|3|4|5|6|1|2|3|a|5|6|1]2|3|4|5]|6
BIEARIFRT EE P~ = | e = | e =l Kik2EXE
s|oosres oense | #® (L2 2|2 ZZ%= 2z %= x| |ielm
TH12:30 & & & ]
BFEHAKRE Kik2EXE
|y h—hRKE 19|
FEHRAKRE EREEAER
Blyyh—tmkis 20( KKk ATTRARE
BOR BER2ZEXRE
A|E={K%BH8.25 21| K
BRHAAS I
e EREIT AR #ix PN
22| K 2|&
NRTyEmARE #ix BHREEKRE
23| 23| +
i
24| K 24| B
25| & iE 25| A
ATEATR EBAA
26| £ 26| K|Dekiks
KikBRKE FRET AR
27\ H 27| K| 479
HEKE XS i
28| A|KikBRE 28| K
IAMTREREMRBEERE i
29| X ~8/3(RH) 29| &
HEKE AR
[EES
30| 7k iR 30| +
AKREXE i
31K 31| B
48 |58 |68 |7B [88 |94 |10A|118[12R[18 |28 |38 [&&t
14| 14| 20 21| 14 69
24| 15| 20 21| 14 70
34| 15| 20 21| 14 70




